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QNol Sclect lhe corrcct option andlnselt (A B C D) in the n-!cvnnt box

RN

b) Opp(vsile sides

a) All sides ) Adjacuent sides

d) None of these

o lr thew A equals S f
_ A [2‘ ] en’ cquas Do e P (W
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Bl Thematrix [0 0] 4s ‘ : ‘
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a) Identify matrix w.r.vaddition - b) Row matrix ¢) Column matrix d) Diagonal matrix’
e The multjpl‘i‘cai'ive inverse of ¥2 is 7 p !
N D . .
N ) 1 | ’
a) =2 ' b) = V-2 &) =
5 ) |
v. Px)=1lisa -c—._ “ '
a) Polynomia! of degrec one b) Binomial ¢} Polynomial of zero degree 7 'cl)‘ None ofthesﬁ T
" i, 1€log 3'=x, thenm = ' ' .__.2;---.- ‘
o h‘) x" cyaxx : d)_:.‘_'. . S
' - ) “. ) - o -
v, Characteristic of log (3250) is | l:_ W C ]
- e ser e ]
)l b) - c) 3 a2 .

vil. (@ -bh)= ' “g ]
o DE-b -3 -y E +¢l=+b‘) ¢} (a~'b) ('1 —ab +0) d) (a by +ab T
ixe  Factors of X! +x - 6 are _ . ' FMHBRAWT

a) (x-2), (x-3) b)(x-2), (43 ©) (x42), (x-3) ) (x+2), (x+3)
x 'rICFol"(a ~b' )and  +abt ) is : - L _ \; N
a)(a+h) “b)at+ qb+ w9 (a ab bz) " @-b) ~ ," B
xi.  The solution set of | -x|—0 is o o [ v
W) {1} b) {0} Lot )

% xin Thesolutionsetof x =1 and x=24s ___ ¥ "—8: T
o ‘ A
_ 0) {(02)} b) {(1,2)} ©) {2.0)} d{} o

xiil.  Inright angle triangle, one angle .3 ' * A C—;

S a2t b) 360° R dy 180" L
aiv,  How many obtuse angles can be there in a triangle? \9 !
]
a) at least one b) at most one ¢) two d) vary from (riangle to triangle .
wve o sides of a parallelogram are congruent. ’ __€~
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Note: Time ailowed lor Section— B & C-is 2 40 hOurs o , B ,
. SHCTION - B  Marks: 36
Q2 Attpmpt any NINE pnrt Eack part c.aries Four marks. o o
' l) Solve the system of cquatmns 5%+ Ty =3 und 3x Fy= 5 by usmg Cramer's I‘\ulc

s ; 1 1 i : . . mh 2 =11
- +2) Show that (A + B)Y = A + B, where = A= and - B=
T ' ‘ : 3 4 2 3

(a+b) . +d)’]’

©3) Simplif
3 lmplyl(a+b)(c+d

) 5473 ) E
4) bimpllfy t—i;))—%éf—gt— witli the belp of Iopanthm.

5) Find the value of ab -+ be + ca, when athtc= 12 and a2+ b2+ ¢F = 38,

6) Ifx= S —'i . then find Uic value of (x -—;1(—) and (x + _xlTJ

7Y Factorize (2x" ~ 128).

'8) For what value of “b”, (x* - 4x> + bx - 2) is ﬂxactly divisible by (x -~ 1).

9) }“md thc I-lCl' uf (387 - 2x - 3x +2); dﬂd (6x - 7x -% -1_2) byvdl\flolbk, m=lhcd
; (-1 +a& +b_) C St

-~ b
10) Sim hfy l—— e e o :
p A ‘; b(q ~‘+!b ) i, L; / ,L" 5 ',; : s:, R

J3x- 4+7 ) . A

11) Solve the radical eguation ~—-=--e—--

12) Draw the graph of the equation y =x+2.

SECTION -C | Marks: 24
Note: Attempt any THREE nuestions. I*‘.dch question cavries cqual marks.
Q3: By usingdistance formula, show that. the points A(-3, -4), B(2, 6} and C(0), 2) are collinear,
Q4: if two angles of lrmuglc are congruent, lhen the upposite sides to them are aldo congruent.
Q5:  Theline scgment, joining the mid-poiats of two g_ad: 3 of a tnang,le is parallel to lm th:rd side and is cqual
“to one half of its length, o - : S L
: Q6: ¢ unstrud a ;\Ab(, whcrc MAB = Scm, mZA = 45Y and VmAC = 60° o



